Pedestal Distribution (average fADC count between 0 - 24 ns)

3
500 x—l(l:) | | | | | | | | | | | | | | | | | | | | | | h pe d 1
B Entries 1000000
: Mean 633.5
400: Std Dev 2.367
B Underflow 0
— Overflow 0
300
200+ —]
|| — Sum64
L quadl
L — quad2
L quad3
100 | — quad4
L quadsum
O - | | | | | | | | | | | | | | | | | | | | | | | | | | |
0 200 400 600 800 1000 1200 1400

Pedestal [TADC counts]




Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)
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Amplitude Distribution (with pedestal subtraction)
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Integral Distribution (with pedestal subtraction)
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Amplitude (pedestal subtracted)
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Integral (pedestal subtracted)

10000 [ T T 1T T T | T T | T T | T T | T T | T T | T T | T 1 hlntSUb—ZD
- Entries 1000000
9000 Mean x 313
- Mean y 296.9
8000 StdDevx 1705
- Std Devy 163.6
7000 0 0 0
m 3734988122 0
6000— 3172 4972 0
= 34 —{50
5000— =
- - 40
4000 — -
3000— = 30
2000 — = 20
1000— - 10
O - 1 1 1 | | I I | | | I I | | | I I | | | I I | | | I I | | | I I | | | I I | | | I I | | 1 1 1 I: O
0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000

guadsum



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


